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OVERVIEW

» Keyboard is connected to a FPGA board via USB port, and
entering a BCD number using the keyboard.

» Using VHDL code to convert the input BCD code to Binary and
Hex

» A Seven Segment Display is used to display the BCD number
Inputted, result of Binary, and Hex

» Switch O is used to display Binary, Switch 1 is used to display
Hex, and Switch 2 to rest.
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EXPERIMENTAL SETUP

TRIAL# |DECIMAL#| INPUT (BCD) | OUTPUT (BINARY) | OUTPUT (HEX)
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CONCLUSION

» The process of converting BCD to binary and hex was
successfully implemented on an FPGA along with
connecting a Keyboard via USB

» Connecting a keyboard to a Nexys Board was more
difficult then expected especially as the user enters the
BCD number, the numbers must shift to the left every time
the user enters a new number “0 or 1".
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